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Answers to short answer-type questions must be given in sequential order. Similarly,
question of descriptive part should be answered inone place inthe answer-book.
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our roll number on the question paper before start writing the answers to
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Write y questions.
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Part A is compulsory having 10 very shortanswer type questions (with a limit of 20 words) oftwo marks each.

" ‘This first question shall be based on knowledge, understanding, and applications of the topics/text covered in

the syllabus.
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Part B has 4 questions (with a limit of 150 words) of 10 marks from each unit. The candidate is required to

attempt any 2 questions.
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Part C of th : - 1
© question paper is divided into four units comprising question numbers 6-9. There is one

descripti : e
Puve question from each unit with internal choice. Each question will carry 20 marks.
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PART-&IHTIT S

1. Explain the following: 10X2=20
Fre=fafaa @ we it
(i) Micro Economics

e gefeme
(ii) Deductive Method
e fafy
(iii)  Consumer Surplus
SUHTERT B FaT
(iv)  Marginal Utility
Hrmid sudifirar
(v) Indifference Curve
TSRl I5h

(vi)  Complementary Goods
- TE

(vii)  Production function
ERICSR R

(viii)  Economicsof scale
i 31 frereafaand

(ix)  EnvelopeCurve
feraIaT ash

(x) Price war in oligopoly
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_ Show consum

_ Distinguish between consumer equilibrium and producer equilibriu

_ Describe the basic functionsand central problems of th

PART -B/¥0T — 4

Differentiate between law of demand and elasticity of demand.
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Whatis the relationship between Total Utility and Marginal Utility?
A Sqaiifiven g Armra STAT 3 gy way 87

er surplus and producer surplus with the help of diagram-
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m with relevant diagrams:
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UNIT-1/5®1¢ — 1
¢ economic system-
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What is Elasticity of Demand? Explain the different fypes ofelasticity of demand with diagram.
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UNIT-I1/3®18 — 11

_ Discussthe lawof equi-marginal utility.
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Write the four main features of Indifference Curve and also explain the price effect, substitution effect

and income effect with the help of Indifference Curve.
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UNIT - 11l / §&7¢ — III

Describe the three stages of production in short run. Which stage is the best for the producer?
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OR/ 31qar
Delineate the main features of perfect competition. Describe the long run equilibrium of a firm ip ghe
perfect competition with dia gram. |
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UNIT -1V /518 — IV
9. Explain the price and output determination in Monopoly market.
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OR/ 3141
Explain the 'Price Rigidity' in Oli gopoly with the help of kinked demand curve.
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No supplementary answer book will be given to any candidate. The candidates should write the answers
precisely in the main answer book only.
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Answers to short answer-type questions must be given in sequential order. Similarly, all the parts of one
question of descriptive part s

hould be answered in one place in the answer-book.
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Write your roll number on the question paper before start writing the answersto questions.
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Part A is compulsory having 10 very short answer-type questions (with a limit of 20 words) of two marks

each. The first question is based on knowledge, understanding, and applications of the topics/text covered in
the syllabus.
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Part B of the question paper is divided into four units comprising question numbers 2-5. There is one

descriptive question from each unit with internal choice. Each question will carry 15 marks.
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PART -A /4T — 3

1. Explainthe following:

10x2=20
Freferfad o T I :
i. Set
ey
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il. Properties of determinants (any (wo).
ARG 9 Ry (@@ D) |

iti. Slopeofa lincar function.
R Wt i BT |

1v. - Rational function.
QR el |

V. Formula for total derivative,
W AT BTG |

vi. Second order partial derivative,
feia S a1ifres araeem |

vii. Consumersurplus.
STHTEET 3P |

viii. Equilibrium condition in amarket.
RIS R e B ol

iX. Inverse of matrix.

Aigad ufaam |

X. Cramer'sRule.
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PART-B/9TT — g
UNIT-1/3a15 — |

Explain Sets and their operations. Discuss the relationship between Sets and give examples
intersection and complement.
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OR / 3204y

4x15=60

of union,

Describe constant, polynomial, rational, exponential and logarithmic functions with their graphical
representation.
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3. If Z=4x2+3xy+y’ X & y are independent variables. Find the total derivatives and total
™ differential.
UfE Z=4x*+3xy +y* X TIT y X =R € | el e W7ol Gl STqeaelT ST Aoy |
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OR /34l
Define Implicit function,

If X'+xy+y'-1=0
Find % atany point (x,y)
ST wer a1 R #ifd |
S X Hxy+y*1=0
(x,y) & {5 fig v %ﬁmaﬁﬁym
UNIT - 111 / %13 — 11
Explain the definite and indefinite integrals.
Solve  [(2x*-3x+1)dx
and discuss its application in finding the total cost of production.
e va sifaf¥aa eareert @1 we it
FADINY  (2x°-3x+1)dx
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If Demandfunctionis P=100-5Q
Supply functionis  P=20+2Q  thenDerive consumer surplus and Producer surplus.
afe AT B P=100-5Q
9 B P=20+2Q qr STHIGET IR 3R SeaTed e e BT |
UNIT-1V/3®18 — IV

2 1 -1 X |
A=(1 -1 2, X=|y|.B=|4
3 2 -1 z 7

Solve using matrix inversion method.

afg 2 1 -1 P 1
A=|[1 -1 2|, X=|y|B=|4
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Afzasy egehd fAfY B FErd | & Y |

OR /314t
Define determinants. Find the determinant of a 3x3 matrix and explain the significance of determinants in

solving simultaneous equationsin €Conomics.
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Part-AMT -H

1. (1)  What are the use of box-plot? [10%2=20]
dfeq-ie a1 94T 27
(1)  Define frequency distnbution,
TRARAT 427 D TR A
()  Find the coefficient of vanation of first ten natural numbers.
e 10 Wil Wt &1 R is s SR
(v)  Give two examples of ratio scale.
RIS FE & 2 a0 Aol |
(v)  Wnte the normal equations for fitting of second degree curve.
firita 2 75 & fore wm=g Whaww & fifaw
(vi) . Define the concept of attributes.
Ton 3 Rrgi @ WA DRI
(vu) Define ordinal scale.
s AE @ yRuia Sif

(viti) Show that correlation coefficient is the geometric mean of the two regression coefficients.
fearsdy o wesiay orie W1 FRISEOT oTd @ EIRR A1 S 2
(x)  The followng data have beeen arranged in ascending order.
! 8, 11, 13, 15, X+2, X+4, 30, 32, 35, 41. If median of the data is 24. Find X.
| R e 3Rl 8 a6 a3 aafe Ren T
| B.11,13, 15, X+2, X-+4, 30, 32, 35, 41 1% 3iie) ) A 24 & A X 1 W T DA

(x)  Ifthe value of A3, and u, is 5, 80 respectively, then find the variance.

g f, IR p, T AF THL:: 5, 80 2 A IRRY 71 SR
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Part-BAnt-a
Unit-15om8-1

(2) Define primary, secondary, discrete and continuous data with example.
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[8+7]

()  What do you understand by tabulation? Explain different parts of a standard table
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OR/3Rma

ges of diagrammatic representation of data? Describe Ogive and frequency

What are advanta
e? [15]

curve with suitable example. What are the uses of ogive curv
m&mwﬁﬁfﬁﬁﬁmmé?mmmﬁwmmmaﬁa
Fofs @1 SR @B & 71 J9A §?

Unit-1l/5a7s-11

1n? What are the different methods for computing dispersion? Show that

What is meant by dispersio
[15]

vanance is independent of change of origin but not on scale.
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OR/3™a
(a) , Derive formula for the median of a continuous frequency distribution. [9+6]
e ARARE a2 5 e witad & g @ §d S|
metric mean

(b)  Define geometric mean. Write two demerits of geometic mean. Show that geo

is greater than or equal to harmonic mean.
i e @ sfonfia A1 PIRR Mo 3 2 @ Rifve R fs o
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Unit-TT15®r$-111
Explain the principle of least square. Fit a curve y=a+bx and exponential curve for a setofn pomnts

(5. 39). (x5, )y (x,,, 3,) OF xand y. 115]
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() Calculate the Yule's coefficient of association between attributes A and B given that- [6+9]
(4B) = 50,(AB) = 19,(aft) = 782, (uff) = 89
N AR B ¥ e g w1 wewd s ar AR, R & -
(AB)=50,(Ap) = M(af) = 782, (u«p) =89
(b)  For a consistent data relating to three attributes A, B and C. Prove that-
(AC)+(BC)-(4B) < (C)
= o A, B 3IR C 3 wwiftrt siiaet % R Rrg aRe -
(ACY)+ (BC)- (AB)<(C)
Unit-IVzaE-1V

i Derive an expression for Spearman's rank carrelation coefficient. What do you do in case of re-
peated ranks. [15]
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What do you mean by correlation coefficients? Show that it is unaffected by the change of origin
and scale. Find the correlation coefficient for the data

X: 2 3 4 5
Y: 5 4 3 2

S e TS W 1Y T1 WA &2 A3 36 et o w0 & oRad a1 39 WA v 98 vz
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xX: 3 3 4 5

Y: 5 4 3 2
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